Skillswise nen1.s &9

Multiplying decimals - answers

1. 301 = 1.2 = 381.2

2.680.14 = 32 = 1924.48

3. 4.5 x 631 = 2839.5

4.18.4 = 2.1 = 38.64

5960 = 0.42 = 403.2

6. 1234 = 1.2 = 160.8

7.13.4 » 1.2 = 16.08

8. 1.34 x 1.2 = 1.608

9. Jon bought 27 lengths of decking each 1.75 m long. What was their total length?
27 » 1.75 = 47.25
Correct answer:. 47.25 m

10. Talia worked for 23 hours at a rate of £6.35 an hour. How much money was this altogether?
23 % 6.35 = 146.05
Correct answer. £146.056
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